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@ (-13) + (+32) + (=25) - (-19)

© -24-17+29-15

@ -10, -5 @ -3, 4 ® 13, 7
@ 10, 6 @13, -2
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@ (-13) + (+32) + (-25) - (-19)
= (-13) + (+32) + (-25) + (+19)
=13

© -24-17+29-15

= (=24) + (-17) + (+29) + (-15)
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@ {A+(-B)}+C=A+{B+C}
@(A+B)+(—C) =A+{B+(-0)}
® A-(B+C)=(A-B)+C

@® A+B+C=A+C+B

® A+ (-B)+C=C+(-B)+A

B

@ {A+(-B)} +C=A+{(-B)+C}
@A-B+C)=(A-B)-C = ®Wio] Z3H AJA=
A o] J-stA =

@A+B+C=A+C+B = nggzo|r},

@A+ (-B)+C=C+(-B)+ A = w&Hojc},




3. o= FolA ARt At &4 g2 A2

D (-1) - (-7) = 46 @ (+10) - (=5) = +15
@(—5) - (-4)=-9 @ (+3) - (-11) = +14
® (-13) - (-6) = -7




YA A5h2 7
AAAE ol g5ta, AsHd

O_I:] X stz
ANA stz o] A= 5km g\zmﬂ ‘mmllﬁﬁ‘ A5t

o1 Aok o §oto] Ew

o Ajgolo] F T A7t 8km Y
™

@ 1km @ 2km

@3km

_A8km----.
) —+5k1n~

= 99 .J !
o|’_l

L AAAE E}J_ 7= Agl=

@ 4km ® 5km

B
[+ (+5)=+8
(+8) - (+5) =[]
(+8) + (-5) =[]
+@8-5) =[]
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wHPE S ol gato] the-S Aktstelet,
(103 x 3.14 — 3 X 3.14) + (20 X 1 + 20 x 99)

> E

> ME: 2314

B

103 x3.14 - 3% 3.14 = (103 - 3) x 3.14
=100x3.14 = 314
20 X 1+ 20 x 99 = 20 x (1 + 99)
= 20 x 100 = 2000
- 314+ 2000 = 2314




8. AW AE o]&sto] tha& Alitstoizt,
(3%2.99 4 97 % 2.99) + (5.8 X 4 + 5.8 X 6)

> E

> =gt 357

3% 2.99 + 97 x 2.99 = 2.99 x (3 + 97) = 2.99 X 100 = 299
58%X4+58x6=>58x%(4+6) =58x10=>58
. 299 4 58 = 357




